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Example 1
XkYx%2 - Z%x%2;
Xxk2 + Yx%2 - I%x%2;
XxY + Y%Z +Zx%X ;

ORIGIN IS 8-UPLE ROOT

oooooooo

X = 1.2819717

(-2.4142136)

<
il

N
1

(-2.7334737>

X = 4.5464554

Y = (-2.4142136)

Z = 5,1476873

X = 4.052327E-1%1 + 8,57864E-2

Y = 4.142136E-1

Z = - 1.678529E-1*%] - 2.071068E-1
X = - 4.,052327E-1*1 + 8.57864E-2
Y = 4.142136E-1

L = 1,678529E-1%x1 - 2.071068E-1



Example 2

XxYx%2 - Z%x*%2 = 0 ... F1
X*k%k2 + Yhkk2 — Zx%k2 = 0 oo F2
X*Y + X%*%x3 + Y**x3 = 0 ... F3
LINE T*(1'010)

ORIGIN IS 8-UPLE ROOT

o e 0 0 0 0 0

X = 1.69E-5%1 + 2.3537494

Y = - 1.72E-5%I - 2.0229495
Z =0

X = 1.2471492%1 - 1.857771E-1

Y = 5.050074E-1x] + 8.178292E-1

X = 1.2471548%I - 1.857925E-1

Y = 5.050139E-1*%I + 8.178325E-1

oooooooo

2.32956443E-4%x] + 9.63230676 .- Fl
1.49146193E-4%I + 9.63246092 ,+.« F2

- 4.95138243E-6*I + 1.00099918E-5 <<« F3
3.6262993T7E-1*1 - 1.10704649 ... F1
3.62636073E-1*I - 1.10705587 ... F2

- 5.90405E-6%I - 2.10440465E-5 ... F3

(S%]
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Example 3

X*Y%k*2

Zxx2 = 0 ... ,F1

X*%x2 + Yx*2 - Zx*x2 = 0..,F2
XxY + X%%3 + Y*x3 = 0 ..,F3

LINE: Tx(1,1,1);

ORIGIN IS 8-UPLE ROOT
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ISITC(F1.1

ISITC(F1,2

ISITC(F2.1
ISITC(F2,2
ISITCF3.,1

ISIT(F3,2

D)

)]

)

1.247152%1 - 1.857848E-1
5.050106E-1%xI + 8.178309E-1

1.0658324%1 + 1.701125E-1

2.3537804
(-2.0229811)

3.1036648

= - 5.28311102E-8%I - 1.37185143E-7

=(-6.35461574E-7>

=5.10541193E-8%]1 - 2.07699968E-9

=(-4.88377674E~-T7)

= - 1.37358485E-7*I + 1.43151596E-7

=2.00043587E-7



Bl 4

F1 = XX%2 +YX%X2 + ZXxX%2 +3XXXKY + YX2Z +2ZXX +2
F2 = 2XKXXX2 — YXK2 + ZX%k2 + XXY - Y%2 + 3
F3 =

XXKY + YXZ 4+ 2X%X2 + 2ZXX

LINE:T%(1,1,0)

X = 5.302786E-1%I + 2.8E-S

Y = 8.837976E~1X1 + 4.66E-5

N
i

- 1.0016373%1 - 5,29E~5

X = 5.303801E-1%I + 3.06E-5
Y = 8.839668E~1%I + 5.1E-5

2 = - 1.001829%1 - 5.78E-5
X = 5.303316E~1%I ~ 5.86E-5

Y = 8.8388B6E-1%I ~ 9.77E~5

Z = =~ 1.0017375%I + 1.107E-4

X = = 5.30278B6E-1%X1 - 2.8E-5

Y = =~ B8.837976E-~1X¥I — 4.66E-5
Z = 1.0016373%I + 5.29E-5

X = = 5.303801E-1%XI = 3,06E-5
Y = = 8.839668E~-1%I - 5.1E-5

2 = 1,001829%1I + 5.78E-5

X = - 5.303316E~1XI + 5.86E-5
Y = = B8.838B6E-1%XI + 9,77E-5

Z = 1.0017375%I - 1.107E-4

2.168B83937E-4X] —~ 5.51562615E-2

2.25881E-4X%I + B8.6152654E-1

5.90376834E~6X]1 ~ 5.55447676E-2
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2 2 :
F1 iz X+ 3KXKY + XKZ + Y  + Y%Z + 2
2 ' 2 2
F2 1= 2%X + XY —= Y = Y%Z + 2 + 3
2
F3 = XKY + XXZ + Y¥2Z + 2
LINE THC1,1,1)
X = 1.1441228%I
Y = 2.700908E-1x%I
Z = - 2.700908E-1%I
X = 4.37016E-1XI
Y = - 1.8512296%I
Z = 1.8512296%1I
X = 8.838835E-1xI
Y = 5,303301E-1xI
Z = - 8,838835E—1x%I
X = = 1.1441228%I
Y = - 2.700908E-1x%I
Z = 2,700908E-1XI
X = = 4.37016E~1%I
Y = 1.8512296%I
Z = - 1.8512296%I
X = = 8.838835E-1x%I
Y = =~ 5,303301E-1x%I
2 = 8.838835E—1x%I

ISIT(F1,1) =(=1.06424957E-7)

ISIT(F2,1) = (~4.55545548E~8)

ISIT(F3,1) = 1.38777878E-17

2

+

2
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2 2 2
F1 := X+ 3KXKY + X¥Z + Y + Y¥%2 + 2 + 2
2 2 2
F2 1= 2%X + XKY — Y = Y*%Z + 2 + 3
2
F3 = XKY + XX2Z + Y%2 + 2

LINE: T*(2,1,1.,)

X = 1.1441228%1

Y = 2.700908E-1%I
2 = - 2.700908E~-1XI
X = ~ 8.838835E-1XI
Y = - 5.303301E~1%I
2 = 8.838835E-1%I

X = 8.838835E-1%I

Y = 5,.303301E-1%XI

Z = ~ 8.838835E-1%I
X = = 1.1441228%1

Y = = 2.,700908E-1%XI

2 = 2.700908E~-1%1

X = =~ 4.,37016E-1%I
Y = 1.8512296%1

Z = - 1.8512296%1
X = 4.37016E-1X1

Y = ~ 1.8512296%X1

2 = 1.8512296%1

ISIT(F1,1) = (=1.06424957E-7)
ISIT(F2,1) = (-4 .55545548E-8)

ISIT(F3,1) = 1.38777878E-17



N T
2 2 2
F1 = X+ 3XKXXY + X*¥Z + Y + YXZ + 2 + 2
2 2 2
F2 = 2%X + XXY - Y = VY%Z + Z + 3
2
F3 := XXY + XXZ + YXZ + 2

LINE: T%(3,2,1)

X = 1.1441228%I1

Y = 2.700908E-1%XI

Z = = 2,700908E-1x%1
X = - 8.838835E~1XI
Y = ~ 5.303301E-1%XI

Z = 8.838835E-1%XI

X = 8.838835E—-1x%XI

¥ = 5.303301E-1%I

Z = = 8.838835E-1%I
X = = 1.1441228%1

Y = =—= 2.700908E-1XI
2 = 2.700908E-1%1

X = 4.37016E-1%1

Y = = 1.8512296%1

Z = 1.8512296%1

X = = 4.37016E-1X1I
Y = 1.8512296%I

Z = - 1,8512296%I

ISIT(F1.,1) = (—1.06424957E~7)
ISIT(F2,1) = (~4.55545548E-8)

ISIT(F3,1) = 1.38777878E-17
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